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Answer any Five questions. All questions are of equal value.

Explain the need for proper accounting in modern age.
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Distinguish between Double Entry System and Single Entry System of accounting.
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What are the main features of Hire Purchase System ? How does hire purchase system differ from
instalment System ?
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Discuss the purpose and process of Departmental Accounts.
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Wnite short notes on any two of the following ;-

(a) Goodwill (b) Depreciation (¢) Accounting Conventions (d) Deficiency Account
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X, Y and Z are partners in a business dividing profit equally. Their Balance Sheet at 31st December, 2006
was as follows -

Liabilities Rs. Assets Rs.
Sundry Creditors 38,000 Sundry Debtors 97,000
Bills Payable 9,000 Stock 24000
Capital Account Furniture 3,800
X 60,000 Cash at Bank 6,200
Y 30,000 Z'o Drawing Account 30,000
Z 10,000 1,00,000
Drawings Account
X 7,000
Y 7,000 14,000
Total Rs. 1,61,000 Total Rs. 1,61,000

Z1s insolvent and unable to contribute anything. The partnership is consequently dissolved. Debtors,
Stock and Furniture realise Rs. 1,03.800.

Draw up a final balance Sheet showing the position of each partners capital account.
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Mamta Coal Company are lessees of a mine on a royalty of 50 paise per ton of coal raised, with a Dead Rent
of Rs. 30,000 per year and power to recoup shortworkings during the first five years of the lease.
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The output for the first five years was as follows —
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First year 10,000 tons
Second year 48,000 tons
Third year 80,000 tons
Fourth year | 20,000 tons
Fifth vear 1,20,000 tons

Write up the Dead Rent Account, Royalty Account, Shortworkings Account

Company' ledger.
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8. A shoe factory in Mumba; has a sale branch in Patna. and charges all goods sent to the branch at cost price
If is arranged that all cash recejved by the branch is to be paid daily to the Head Office. The

plus 33',,%.
branch is to effect very little credit sales,

From the follwing particulars, prepare the necessary accounts i

for the year ending 31st December, 2006.

profit of the branch
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and Landlord Accou

n the Head Office ledger, showing the net
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Rs.
Stock, 1st January, 2006 6,000
Goods sent to Branch, less Returns 40,000
Debtors, 1st J anuary, 2006 750
Cash sent to Head Office Account in Bank 62,000
Rent, Rates & Taxes 1,600
Saleries & Wages 2,400
Debtors, 31st Decem ber, 2006 800
Stock, 31st December, 2006 7,400

9. From the follwing Receipt and Payment Account of Glamour

Account for the year ended 3 st December, 2006~

Club, prepare as Income and Expenditure
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Date Particulars Amount Date Particulars Amount
Rs, Rs.

2006 2006
Jan.1  To Balance 5,000 Dee. 31 By Salaries 3,000
Dec.31 |, Donations 10,000 » Rent & Taxes 500
»» Subscriptions 5,000 »w Printing 200
» Int. of Investments 2,000 .» Postage 300
»» Int. of Deposit 3,000 » Advtg, 1,000
, Sale of old Furniture 5,000 » Fixed Deposits 10,000
» Extension of Premises 10,000
,» Balance 5,000
Rs. 30,000 Rs. 30,000

One-half of the donations should be treated os income. Rs, 100 was owing for rent and Rs. 300 for

salary. Interest on fixed deposits accrued but not received was Rs.
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A transport company purchases wagons on Hire-Purchase System over a term of two years starting on | st

January, 2005. The instalments of Rs. 40,000 each are payable half-yearly. The present cash value of wagon

1s Rs. 1,48,700 and the wagon company charges interest (@ 6% per annum working on half-yearly rests.
Draft the necessary Journal entries to record these transactions is the books of the trans port company.
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Answer any five Questions
Define Administration and distinguish between management and
administration
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Define Organisation and explain merits and demerits of organisation.
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Explain the term Optimum firm and state the factors that determine the size of
such unit
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State the types and limitations of partnership.
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Distinguish between Public Company and Private Company and explain the
features of public company.
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What is Departmental store?Describe characteristics,merits and demerits of
departmental store.
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What is Super Market? Explain its features,merits and demerits.
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What do you mean by Merchant?Discuss the classification of merchant..
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What do you mean by Scientific Management?State its main features.
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Examine critically the Florences theory of industrial location.
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Answer any Five Questions

What do you understand by Auditing? Distinguish between Book Keeping and
Auditing.
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What are the different kinds of audit?State the merits and demerits of each.
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What is Internal control?Describe its essential elements and form.
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What is Deferred Revenue expenditure? Discuss the duties of an auditor in
respect of capital expenditure and revenue expenditure.
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Distinguish between Provision and Reserve.State the duties of an auditor in
relation thereto.
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What is meant by verification of assets? What are the objects of verification,
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What is dividend?Explain the duties of an auditor in this connection.
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row are the Auditors of a company appointed?

What is investigation ? How does it differ from auditing?
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What is audit report ? How does it differ from auditor's certificate?
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